F4@E A 4L

= R

(6 H29H)

(B M)
T EmE Al (heo) o
z I% 4% THEHR GHEBHE EHGRE) & N s
LIBEELD) ¢ Res
1 |[E%k R T E (TR2-007) BTE5— 20254 LE=JIBTKELZ)IIHA 8,987,000 | {RHEEER(H) 8,712,000
2 ||k fE4E T E (T R2-008) BTE4-2285 4% E=)IETRELZ )R 1,837,000 | (A)EEREMI % 1,782,000
3 ||k fEHE TE (T R2-009) BTiE1-0284# E=JIBTKFELE4EHN 6,171,000 | (F)KIBEH 5,830,000
4 |SHEEEHETE (TR2-010) BTE2-305# L=JIBTLOSE KA 5,104,000 [ (F)FREFIE 4,950,000
5 | EENIETERIERFRF LA E K EEHFETL(ER2-036) | L= NIETRF L= RA5 9,867,000 | (#k) 74 RE%Et 9,350,000
6 %ggf}ﬁfﬁkﬁx'""77*:)"""%%7’@%%%%% E=)IETA 19,844,000 | (#) BARKEKET 1 19,096,000
7 |[EERVMESIHKRERE(ER2-113) EENIETLOESE—T B 1% 15,730 | AT IEREU—R () 15,235
8 |EBREBRVATLEBEEHEER2-114) EENIETLOESE—T B1%Ei#h 164,890 | NTTZ74F> R (¥k) 152,570




